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Run 5301 quartetwise, posHQ: Beam DH

P aam laol pooHs

— LEEEf DN Entries: 31316 Entries: 30149
- Mean: 16.7412 - 0.0032 | Mean: 2.9614 +- 0.0018 50149
L — Laser OFF Std Dew: 0.7258 +- 0.0023 | Std Dev: 0.4032 +- 0.0013 2.961
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Run 5301 quartetwise, asym0Osub: Beam ON
— Laser ON Entries: 51516 Entries: 50149
— Mean: 31.4973 - 00697 |  Mean: 0.0787 +- 0.0618
. — Laser OFF Std Dev: 20.3450 +/- 0.0634 | Std Dev: 138396 +- 0.0437
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Run 5301 quartetwise, negHO: Beam DIN

Laser ON Entries: 51516 Entries: 50149 aom1_Ined_nagra
— Mean: 15.9002 +- 0.0031 Mean: 29593 «- 0.0016 50149
— Laser OFF Std Dev: 0.6980 +- 0.0022 | Std Dev: 0.4044 +- 0.0013 2.959
— oo 0.4044
_I L 1 1 1 1 | 1 1 1 | L 1 1 | 1 1 | J | 1 1 | 1 1 | |
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-------- Histogram Vars

Positive Hel (ON): 16.741235 +/- 0.003198
Negative Hel (ON): 15.900165 +/- 0.003075
Positive Hel (OFF): 2.961367 +/- 0.001800
Negative Hel (OFF): 2.959263 +/- 0.001806
-------- Sums and Diffs

On Diff: 0.841070 +/- 0.002391

Off Diff: 0.002104 +/- 0.001651
On Sum: 32.641400 +/- 0.005801

Off Sum: 5.920631 +/- 0.003206
-------- Asymmetries
On Asym: 31.476263 +/- 0.089823 (ppt)
Off Asym: 0.078735 +/- 0.061800 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 26.720769 +/- 0.006628
BkSub Asym: 31.397528 +/- 0.109030 (ppt)




posHO

asym (AccO) / ppt

Run 5301 quartetwise, posHO vs time
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Run 5301 quartetwise, asymQOsub vs time
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Run 5301 quartetwise, negHO vs time

TR I

|I|I|ll (T T il

L_llllllllllllllII|I-II|III

40 60 80 100 120 140 160 180 200
Entry$

Run 5301 quartetwise, bcm vs time
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